DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
1INPCB14 | NEET PRACTICE QUESTIONS | "% %
(2023-24) (TEST-14) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. 1g of water of Volume lcm?® at 100°c, is
converted into steam at some temperature,
under normal atmospheric pressure (1x10°Pa).
The volume of steam formed equals 1671
cm?. If the specific latent heat of vaporisation
of water is 2256 J/g. The change in internal
energy is

A)2256 ] B) 2423
C)2089J D) 167J
& TS T 6007 a6l L0 6vor L6V WSS

MM Qeuliuplemevuiley, 100°C-60 1 Q&F.LS°
LigpLoeoflev 2 6Tem 1 g Bmeorgl Brmelluwins
rHoliUG&mg. 2 @meurer Hrmellulleor
LI@HLO6T 1671 Q&L &G FLOWMGLWD WDMHMILD
Briler opealwmgseder 2 6TEBHenm GeuLiLiLD
2256 J/g eTenflev & aLmM6L WmmiLIm(h)

A) 22561 B) 2423 1]

C)20891] D) 1671)

2. A refrigerator works between 4°C and 30°C.
It is required to remove 600 calories of heat
every second in order to keep the temperature
of the refrigerated space constant. The power
required 1s [Take 1 cal =4.2 J)

A)236.5 W

B) 2365 W

C)2.365W
D) 23.65 W
4°C wmomin  30C-&& QemLCW  6@H
GeflJomgeorL QULLg Geuemev

QEWRMmE. GefleplLUU@L GL&SH 6T
Qeuliuplemevenw LMl UTE: emellLSM &
@8 @aIQaTm NermydHEGl 600 &G
QaullLgems HEs  Geuetor(hld  6Tevfley
GxemeauliLi(hD Hmer (1 &8eurifl = 4.2 ))

A)236.5 W
B) 2365 W
C)2.365W
D) 23.65 W

3. A thermodynamical process is shown in fig
with P, =3x10* Pa, V, = 2x107 m’, P =8x10*
Paand V_ = 5x 10m~ m’

P <N B

+77C

A

C
In the process AB and BC, 600 J, and 200 J of
heat is added to the system respectively. The
change in the internal energy of the system in the
process AC would be
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A) 5607

B) 650 J
C) 5301
D) 590 J
P
17(:
A

N
7

C

P,=3x10%Pa, V, = 2x107* m? P, =8x10* Pa LDMMILD

V. =5x 1072 m? S LILSHEBL6T  QeullL
QusEau6 IB1&LD6)| & 61T UL &56v
STLLLUUL (heTergl. AB Lnmmild BC mlaLpeadlev
600) wmMID 200) Qeulubd  WenmGul
emllLer GFIHGHELILGSIMS!, e6T6vflev
AC misweller giemwlilled gouUdLld <5
SMOM6V LMTMILIM(H

A) 5607
B) 650 ]
C) 5301
D) 590 J

4. In an isothermal process the volume of an
ideal gas 1s halved. One Can Say that

A) internal energy of the System decreases
B) Work done by the gas is positive
C) Work done by the gas is negative

D) Internal energy of the system increases.

QauliLmlemey MMM Bl&D6|  speTnley,
BeLVEOILIGUL]  6UMU]  6pedTMIEdT  LICHLOGDT
LTRSS GenmasLILGIT M eTevfl6v,

A) SIeDLILN6T 38 MMV GeMHRMSI.

B) aumwyeume  QEwwlLGD  Geuemev

CHIGM 2 emL Wil

O eaumueumey  QeFwWwliL®mn  Gelemev
THTGN 2 LWl
D) &jemLoLiL9leor P LMMEY

B &F&EE M.

5. Three Samples of the same gas A, B and
C(?’ = %) have equal volume initially. Now

the Volume of each sample is doubled. For
A, the process is adiabatic, for B it is isobaric
and for c the process is isothermal. If the final
pressure are equal for all the three Samples,
the ratio of their initial pressure is

A) 2:1:\2
B) 2V2:1:2
C)N2:1:2
D) \2:2:1

@Gy eurmwelerr epeoTm WMHIflEGeT A, B
LDMHMILD C(?’ =%) Wmeorgl Q&ML G855 6V
FlL0 LI(HLOemeT Q& meoor(heTermeor. &MHELIMS

6261 IT(H S iflulleor LI(HLOS&DILD
@\(H DLBISTESILUGSHMS. GLosyILD
A QeuliuLglnmmmulleveurr Bl&LDeY,

B SiW&sL wrmm plespe wHoih C
QeulIUBlemev LOITMIT Bl&HLD6)| & LD. eLneiTml
THF&erfler @mM& (WSSO FL0LD 6Teoflev
UMM QST (5SS H T el &EIFHLD

A)2:1:2

B) 2\2:1:2

C)V2:1:2

D) \2:2:1

6. The fall in temperature of helium gas initially
at 20°C when it is suddenly expanded to 8

times its original volume is (7 = %)
A)70.25K
B) 71.25 K
C)72.25K

D) 73.25k
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QLTILUSH6L 20°C QeuliLmplemnevuiley 2 e6iem
anfedlld QUMTU SH6T QLTLDL LIHLO6DIE0T
L 8 LLMEE Hiearer aliflamsasliu@ D

GuUMal gMU@ LD Qeuliu eSh&H (7 =%)
A)70.25 K
B) 71.25K
C)72.25K
D) 73.25k

7. In a heat engine, the temperature of the source
and sink are 500 K and 375 K. If the engine
consumes 25 x 10° J per cycle, the work done
per cycle is the

A)6.25x10°]

B) 3 x 10°]

C)2.19x10°)

D)4 x 10*]
Qeulil QWBHH T seTMleT Qeulill epneuLDd
LHMID Qeulil gmliuller GeuliLbleney

WemmGW 500 K wmmib 375 K Q@&Lb.
RO FHNES SbH QWBHETWD 25 x 10°)

QLMHMEM6Y QFevailL_L ey, AL
FMHMIGHGLD QFWWLILGLWD Calemev
A)6.25x10°]
B)3x10°]
C)2.19x10°J
D)4 x 10*]

8. A Carnot engine takes 900 kcal of heat from
a reservoir at 723°C and exhausts to a sink at
30°C. The work done by the engine is

A)2.73 x 10 cal
B)3.73 x 10 cal
C) 6.27 x10° cal

D) 3.73 x 10 cal

&(IH &M G60TT @ UWIBHEH T 900 B CeviT &Gevif]
QauliLgemns 723°C QeuliLiplemevuiley 2 e6rer
CHHAWINIMBHE QUOHMISGQSHTeT(H  30°C
QeuliLl mlemevulaveTem Qeulill gMLSGG

QUPEIGHDS  aaflld  QUBHTSSTE
QFWWLLLL Geuemev

A)2.73 x 10 cal
B) 3.73 x 10 cal
C) 6.27 x10° cal
D) 3.73 x 10 cal

9. A diatomic gas which has initial Volume of
10 litre is isothermically Compressed to 1/15®
of its original volume where initial pressure is
10° Pascal. If temperature is 27°C then find the
work done by the gas.

A)-2.70 x 10%]
B)2.70 x 10° J
C)-1.35x 1037
D) 1.35x113]

QBMLGSHL L@Wer 10 LI LmHmIDd
QBMLES WSSO 10° LITENVH6 2 60)L I
(H I QUMW AIMTETS FH60T QST HSEH
LIgpLn6oflev 1/15 LOLMIE QeullLBlemey OMmIT

SWSF5HDS 2 LUGSSLULGS DS
QauliLplemey  27°C  eteoflev  aumuedleormey
QEFWWLILIL L Geuemev

A)-2.70 x 10° ]
B)2.70 x 10°J
C)-1.35x 103 7J
D) 1.35x 1137J

10. 1 mole of an ideal gas expands isothermally
so that its pressure falls from 1.0 x 10° Pa
to 0.5 x 10° Pa. The change in entropy of the

gas is equal to
A)0 B) 0.693 ]

C) 5.76 J/k D) 1.675 J/k
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@ GLOMeL HLENUWIEVL] UL QeULILIBlemev
orom  aflfleuemLwjd GUTEH 56T
QWSS 1.0 x 10° LM &eNedBHS! 0.5 x 105
LITe&HeVMs  eflpddF e HmE  ereoflev
b eurujeller ereorl_CrmLilulev gmL(BILD
LOMMHMLD 6THME& FLOLDTEOTSI.

A)0 B)0.693 ]

C)5.76 J/k D) 1.675 J/k

11. When an ideal monoatomic gas is heated at
constant pressure, fraction of the heat energy
supplied which increases the internal energy

of gas is
A)2/5 B) 3/5
C) 377 D) 3/7

QU [BELEOIWIEL| 6UMU| E&60TMI  LOMMT
AWHHHHL QeLLLILOSSID  CUTSI,
amwelledr 98 wHmene  AD&HSeE
QEFWIWLD QeI 25MMed6T 6(H LIGHS

A)2/5 B)3/5
C) 3/7 D) 3/7

12. Water falls from a height 500m. The rise
in temperature of water at bottom, if whole

energy remains in water will be (specific heat
of water is C = 4.2 kJ /kg)

A) 0.23°C

B) 116°C

C) 0.96°C

D) 1.02°C
500 WSULT 2 WrsHe(mhba  5evoreoot
ANWH M. Hevorerol] STl QFHTHID
QUTWS  QUMSEH  BOOID  BS
Geooteool 6L @UBHSHMTV  AH6T  QeuLliL
Blemevuilet goHU@GLD 2 wije| (Bifler geor
QeuliLl gL ST medt C = 4.2 kJ /kg)

A) 0.23°C

B) 116°C

C) 0.96°C

D) 1.02°C

13. A thermodynamic system is taken from state
A to B along ACB and is brought back to
A along BDA as shown in PV diagram, the
net work done during the completes cycle is
given by the area

P/\

>
oe]
<V

A)P ACBPP,
B) ACBDA

C)ACBB A A
D) ADBB A A

Qe @ sal U6 3iemLDLIL| 626TMI [Bl6t6y
A - Wl BHE B-&@& ACB auldluins eT(h &S5
QFVLLILIL(  H@WL PV auemIULSH 6V
2 eTemaummi A-&@& BDA aullwins eSS
QEFLLILIG&EMSI, ereflev @M LW
FOMIGSG QEWWlULL BlaT Gealemey,
Q&MH&HSHLILIL L 6TH S LY eor ey
GOILL U@ L.

P A

WV

A)P ACBPP,
B) ACBDA

C) ACBB A A
D) ADBB A A

14. A 500ml sealed cylinder contains nitrogen at a
pressure of 1 atm. A tiny glass tube lies at the
bottom of the cylinder. Its volume is 0.50ml
and it contains hydrogen at a Pressure of 4.5
atm. The glass tube is broken so that hydrogen
also fills the cylinder The new pressure in the
cylinder is (1 atm = 1 x 10° Nm™)
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A) 76.34 cm Hg
B) 82.40 cm Hg
C) 94.24 cm Hg

D) 104.34 cm Hg

500 ml €Ll L 2 (pemeruiley 2 66
MBLIReofledl W HSWD 1 atm WODMMID 4.5
atm QWSHSHLD Q&MeroTL. emamL_Fer 0.5 ml
H60T jeTaemL W WSFRMIU &5 600T600T TS
GLPMUI 9601 2 (Hem e Ul 6T 919 L1LIGH ullev
UGS LILIL (D6TETSI.  FH600T6O0TITI]  GLPITUI
2 LGS DR LT 82607 9 _(HEM 66D L
BITLIL& M eTevflev 2_Hememuile 2 (Heum&Ld
L&l WSSO (1 atm = 1 x 105 Nm2)

A) 76.34 cm Hg
B) 82.40 cm Hg
C) 94.24 cm Hg
D) 104.34 cm Hg

15. Unit mass of a liquid with volume V. is
completely changed into gas of volume V, at
constant external pressure P and temperature
T If the latent heat of evaporation for the
given mass is L, then the increase in the
internal energy of the system is,

A)0

B)L

C)P(V,-V)

D)L- P(V,-V)
LIMIsS  Qelefl QWSHSWLD P WMHMID

QeuliLplemev T -@)6L &H6oT 366y V, 2 6iTarT
QRI6VS Blen MWL W S FeULD (NHEUSILDTEY,
&60T 6T 6ITEIT GUITU|eUTE LDMHMLUILIGS MS!.
L ereoTUs Q&MHGSUULL  Blemmulesr
2NWMH06T 2 6TEhemMm QeullLID 6Teotl6y
ML & QLMHMEL 2_UIT6) 6T6OT60T?

A)0
B)L
C)P(V,- V)

D)L— P(V,-V)

| CHEMISTRY Q.No. 16 to 30

16. Propane can be best prepared by

A) CH,~CH,—Br + CH,Br + NaEt,0

H,0

B) CHS—CHZ—COONa + CHSCOONa Electroysis
C) CHg'CHz_Cl + (CHS)Z Cula =
D) CH,~CH,~CH,~COONa + NaOH — %%

HermlGuetr &8 WW&EF Fmliuns suWmfl&éHs
2 _5a6]|lD allemeor

A) CH,~CH,~Br + CH,Br + NaEt,0

B) CH,~CH,~COONa + CH,COONa — -

Electroysis
C) CH,-CH,~Cl + (CH,), CuLi —>

D) CH,~CH,~CH,-COONa + NaOH —*—

Heat
17. The decreasing order of boiling point is
I. CH,—CH,~CH,-CH,—CH,
II. CH— CH,~ CH- CH,~ CH,

|
CH

3

III. CH,- CH- CH- CH,
CH, Ci,
A)HI>1I>1
B)I>11>1II
O II>II>1
D)II>1>1II

Q&TH BlemevemUILl
alflens

QUTMISSE  @MHIG

I. CH,~CH,~CH,~CH,~CH,

II. CH,— CH,- CH- CH,~ CH,
|
CH

3

1. CH,~ CH- CH- CH,
|
CH, CH,
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A) > 11> 1
B)I>11> 111
C)II>11>1
D)II>1> 11

18. The reagent used for the conversion of

(')
heptane ———> 2, 4 — dimethyl pentane
is

A) AICI, + HCI

B) H,/Ni

C) H,80,

D) CH,MgBr
QamLIGLefleSmH Sl 2,3-60LQIDEH 6V
QUIETITGL 6T b8 LTHM 2.5l elleners
&HITJ600r ]

A) AICI, + HCI

B) H,/Ni

Q) H,50,

D) CH,MgBr

19. Methane on heating with oxygen in the
presence of Molybdenum trioxide gives

A) CH,OH

B) HCOOH

C) HCHO

D) CH, = CH,
55 CHemeT  LOMEOILIG60TID  LemIy&6merv(h
(Wetevflemeuuiley & 6eremetss 685 mesor(h)
QauliLliL(G&SSID CUTE HenL LG

A) CH,OH

B) HCOOH

C) HCHO

D) CH, = CH,

20. Which of the following is the final product of
the below reaction?

H,C_ _ CH=CH,

<&

CH,
CH,
A)
CH,
o
CH,
H
o
CH,
CH,
D)

B&soL CalFallemeruisd @mISWITS
Sevr_LILIGI?

H,0*
N

H,C_ CH=CH,

<&

CH,
CH,
A)
CH,
W
CH,
H
OO
CH,
CH,
D)

21. Isomers of hexane, based on their brunching
can be divided into three distinct classes as
shown in the figure.

I |:>—< and\(\:l
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The correct order of their boiling point is
A)I>11>11
B)III>1>1
OlI>1>1
D)III>1>11

G LD 55 600TL QsMG L6 o _eiTer

Qam & Caeofleor LTOHOWBISET  860T
&) 606115 61T | 60T 6TGOOT 6001 | &5 60) 85 60) LLIL I

QUTMISSE IHT Q&HTHBlemev aulflens
LN 6dT6U (HLOMm)

I|: P and\\f“{]
11[:/J\/«\and/\TA{]
IHI: \\\//\\V//\\:]

A)I>11>11
B) I >11>1
C)II>11>1
D)II>1>11

22. The trams — alkenes are formed by the
reduction of alkynes with

A)H,-Pd /¢, BaSO,
B) NaBH,
C) Na/ Liq.NH,
D) Sn - HCI
3| 6V60)5560T860) 6T

24,60 5\ 60T 5 60 61T
LiweTLI(heugl

20 &5
QuUMILD

LQ. [T IT60T6N
wenmuilev

A) H,-Pd / ¢, BaSO,

B) NaBH,

() Na / Ligq.NH,
D) Sn - HCI

23. Propyne and Propene can be distinguished
by

A) Con.H,SO,
B) Br, in CCl,
C) dil. KMnO,
D) AgNO, in Ammonia

LUepmlenuer wmmib  Lepmiifer &
CaumUB 53 nlw LiweTUmeus!

A) SIL1J H,SO,

B) Br, in CCl,

B) B7&& KMnO,
D)oibGLomesflwimele 2 6iTem AgNO,

24. Which of the following will decolorize
alkaline KMnO,

A) C,H,
B) CH,
C) CCl,
D) C H,

61085 85600T LU M MIET 618! STIMISHEVHSH KMnO,
o BINWINESF QFUIRMS?

A) CH,
B) CH,
C) CCl,
D) CH,

25. The reagent (s) for the following conversion

p / //Br — > H=His / are
Br |
A) Alcoholic KOH

B) Alcoholic KOH Followed by NaNH,
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C) Aqueous KOH Followed by NaNH,

D) Zn/CH,OH
G LD 55 600TL aflemeoTuldleL LiwledsT (B
61 60 60T & &5 [T [J 6001 | &5 6T
N/ Br—sH=H
Br

A) QLVHAMITEV H6VIHSH KOH

B) QL,VHMMEL &HVHEH KOH QFHTLIHSI
NaNH,

C) HBrmMlw KOH &8 Q& mLIB& NaNH,
D) Zn/CH,OH
26. Acidic hydrogen is present in
A) Ethyne
B) Ethene
C) Benzene
D) Ethane
Iblev emaML_JR6T SmeooTLiL@eus .
A) T & 60) & 60T
B) rF & G601
C) QuetTE 60T
D) iF & G & 60T

27. Cyclohexene is best prepared from Cyclo
hexanol by which of the following

A) Con. H,PO,
B) Con. HC1/ ZnCl,
C) Con. HCI

D) Con. HBr
MFHCTTAaM&HFTTeNHHSI F&HG6TT
Qam&&er TmbHs (Wenmuillsdy SWMlHeLl
LiweTUGBILD ellemeotss & reoot]

A) SILIJ H,PO,

B) @4L_[j HCl / ZnCl,

C) QL[ HCI

D) &|L_I[J HBr

28.In the compound //\/\E H the

C, — C, bond is of the type
A) SP— SP?
B) SP? — SP3
C) SP-SP?
D) SP? — Sp?

//\/\EH o drem C, - C, NemeworLiLiey
2 _6IT6IT @) 60T&H &6V

A) SP - SP?
B) SP? — SP*
C) SP - SP*

D) SP? — SP?

29. The compound 1, 2-butadiene has
A) Only SP hybridised carbon atoms
B) only SP? hybridised carbon atoms
C) Both SP and SP? — hybridised carbon atoms

D) SP, SP? and SP? hybridised carbon atoms

1.2 - Yyl LrmemLufer sifllng CFiLng s ev
2 _6TeTS.

A)SP - @6TES5LILN6D 2 6TeT  SIT LG0T
9|60 &H 6T DL (HLD

B) SP2 — @\eoT&&6VLILN60 2 66 ST LIGT
960018 &6T L0L_(hLD

CQ)SP mmild SP?2 @erd&euliLley 2 6Tem
ST LIGOT 260018867

D) SP, SP? LnMmmilh SP? @ eT&&H6eVL1LN60 2_6iTarT
SITITLIGT 60085 6T
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30. Which of the following compounds will
exhibit geometrical isomerism?

A) 1-Phenyl-2-butene
B) 3-phenyl -1-butene
C) 2-phenyl -1-butene
D) 1, 1-diphenyl -1-propane

GLpE&HeTLaIMMIET  FGHFFLOLD
rHMwgens QeusflliLBSSIN?

QL6

A) 1-Lemeorev — 2- LWyl 1e60T
B) 3-LYemeorev 1- LWyl 1 60T
Q) 2-9emeoteL —1- LWL 1@ 60T

D) 1,1-emLLfemeorev —1-LGFITLIGLIET

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Which of the following would not get in the
regeneration phase of Calvin cycle?

A)C3+C3—-C6
B)C3+C6 - C5+C4
C)C3+C4—-C7

D)C3+C6 —-C5+C5

L) 63T 60 (1 61 60T 6 (D M) 61T &meveileor
FPOFWleT DM miaTsEs  Blenevuley
RO ESLIQLMTEHSI?

A)C3+C3—C6
B)C3+C6 — C5+C4
C)C3+C4 — C7
D)C3+C6 —-C5+C5

32. Primary CO, acceptor molecule in C, Cycle
is

A) 3 Carbon Ketose sugar

B) 3 Carbon Aldose sugar

C) 5 Carbon Aldose sugar

D) 5 Carbon Ketose sugar

C, &oMHEFIUN6L CO,~emeu JHEGLD (NG&HELBlemey
ELO6VE T M.

A) 3 SITILIET SLCLITeN FF&HSemT
B) 3 &ML QL,6VCLITEN FJ& 60T
Q) 5 SBMTLGT 3L,6VELITEN FJ&SH60T
D) 5 SIMHLI6T SLCLMTeN FI&HE60]

33. With reference to photorespiration find
out number of correct statements of the
following:

I. It does involve in the synthesis of sugar and
does not yield and any ATP

II. RuBisCO act as a Oxygenase in the
photosynthetic cells in the presence of CO,

IT1. This cycle involve to utilise ATP molecules
to release of CO,

IV. Intermediate of this cycle enter the Calvin
Cycle.

A)l B)2
Q)4 D)3
& 611 & 8+ 61 TF & B) 60T g emLudlev

L eTeuneueoTal HmMIET FflUIMeT &u M misserfleor

6T600T600T 1 8560185 60) LI &> &5600T LMl U6 LD

. @euallemerTuiel FIGSHMT 2 MUSH
BEOLQLMILD LDMMID ATP 2_MLISGEH) @) 6066V

. eflEGF TS QFeua6rley
Co, (W edTestlemeuuiley RuBisCO
&gl GaTerumeH g QFWeLLI(HSHMS!.

. @& &M ATP LN 6V & T NI GH6MEITL

LweTU® &S CO,~emeu QeueflLIBH&B M.

IV. @ 66l 6t 60T Ul 60T @ emLBlemeuL]
QUITBETHET  Smevalledr  &HLPMHFIUI6L
LURIGCHEMHBMS.

A) 1 B) 2
04 D) 3
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34. Increasing CO, concentration more than
0.05% in the atmosphere leads into

A) No effect

B) Increasing and decreasing photosynthetic
rate.

C) Increasing photosynthetic rate

D) Inhibitory effect

euerflneorLeugHlev CO,6fleor Q&FMley 0.05%
B &HSsTL gHUGILD allemearTey

A) 6755 allem6Te]&HEHLID FMLIL TS

B) eperfl&C& 786008 Ul 60T Geausslh
&5 GOMbHIID @) HEGLD

O seflFGFTEHemHUW6eT Coushld 2FHHHGHS
QOmEHGLD

D) G\ eflenere] gFmLGILD

35. To produce 4 sucrose molecules the number
of ATP and NADPH + H" required in C,
plants

A) 120 and 48

B) 188 and 192

C) 144 and 96

D) 72 and 46
C, HTeUTMHIGETI6V 4 &&GITeN CLN6V & G MU & 6IT
2 HUSGHWTE CHemaullL@L ATP LMMILD
NADPH + H*

A) 120 LDMHMILD 48

B) 188 LOMMILD 192

Q) 144 IDMHMILD 96

D) 72 LommiLh 46
36. RuBisCO activity is regulated by
1. CO, IL. O, II1. Mg
A) Tand II only

B) I and III only

C) Il and IV only

D) I, Il and III

RuBisCO el 60T QFWeLLITL 60
QBMILILIMH S SILIema
. CO, .o, lll. Mg

A) I lomoin I GO

B) | nmmith Il oL (HLh
Ol lommId IV L (HILD
D) I, Il Lo muLh 111

37. Assertion: In C, Plants Photorespiration does
not occur

Reason: RuBisCO in the bundle sheath cells
act as carboxylase instead of oxygenase, to
prevent photorespiration.

A) Both A and R true and R is the correct
explanation for A

B) Both A and R true but R is not correct
explanation for A

C) A is true but R is false

D) A and R are false

gy : C, HTeumsefley ee6flFaeumgid
H60 L LG LIMIQIF) 606016V

ST QeflF&HaTEFD HMLOLMIGINS

SOLUUSMHTH RuBisCO &HMHeNM
2 MMFQFL G660 21,5 6n01831GeoTerumss
Q&FWEVLILITLOGY STIUTEF Cevens
QEFWeLLHRME.

A) FaHmI LDMMILD &TIevoTD @ Tevor(hd &Fifl,
SITTE0OTLD S MMM G Fiflwimeot ellemTg L0
SHHMSI.

B) SaMMI LDMMILD &TIevoTD @) Fevor(HLD &Ifl,
&MIeooTld FaMMIM& Firflwimer ellemg g0
Syellevemev

Q) BaMmmI &Fifl QLEOTITEL SITTE0OTLD HeUm!

D) &a MMl &ITJ60oTLD @) T60oT(HLD &6Uml

Copyright @ THE ALCHEMIST CONSULTANCY



38. The net requirement of assimilatory power
for the formation of 6 hexose molecules in
maize plant is

A) 72 ATP, 48 NADPH
B) 90 ATP, 60 NADPH
C) 108 ATP, 72 NADPH

D) 180 ATP, 72 NADPH

R0 N&ESHTOTEFCHFTNEH ) 6 ClamsGerumen
LN 6V & G M) &> 60) 61T 2 (HEUMTHGSUSMS
G emauliLI(hLD & ([H MG 60600Te: &L F&5)?

A) 72 ATP, 48 NADPH
B) 90 ATP, 60 NADPH
C) 108 ATP, 72 NADPH
D) 180 ATP, 72 NADPH

39. As compared to a C, plants, how many
additional molecules of ATP are needed for
the net production of one molecule of hexose
sugar by C, plants?

A) Zero B) 12

Q)6 D)2

C, srmaurmsCam(h uUiGL Cumsl,
C, osMaurmseley e GamdGaumen
ELP 6V Fn D) Bl& T 2 HUSHEHS
CHemaULILI(BID (&6 ATP eLN6V & Ja MIG 6T

A) Zero B) 12

C)6 D)2

40. Identify correct statement(s) with reference
to CAM pathway

[. During night malic acid accumulated in vacuole

II. During day time malic acid is decarboxylated
into pyruvic acid

1. During night stomata are open and OAA is
converted into malic acid

IV. During day stomata are open and malic acid
is converted into OAA.

A) I only
B) I and II only
C) I, 11, and III only

D) IT and IV only

CAM F LM udleor Sl LiLiemnLuilev

Frflwimeor Fo. DN 60)60T 5>/ For. (D 01 > 60) 61T >

CaHIHOSH &S0

l. @eilev QUMTE & Geumeu g 6rfleu 0medl&
Iblevd CFLIG G emeusSLILGSR M.

. us6v GEpmsefley  Wmedls  udlevld
SITITLIGOT 152::: N[N G LB &
IAeIDTS DTS M.

. @uelley  @emevdElemer  HMHD ([HEH LD

womih - OAA  wmedls oflevlnmss
LIHOUUGSH DS
IV. LI& 6V GBIyl &erflev @) 66V S SI6E6IT

SOHEHHSHGSGL LOHMD Tedds Iflevld
OAA-aumas DMTHMLUILUGSH S

A) | LOL_(AILb

B) | bmmitd Il LDL_(H)LD

C) I, Il, ML H L HID
D) Il tommin IV oL (HLD

41.1In kranz anatomy, the bundle sheath cells
have

A) thin walls, many intercellular spaces and no
chloroplast

B) Thick walls, no intercellular spaces and
large number of chloroplasts

C) thin walls, no intercellular spaces and large
number of chloroplasts.

D) thick walls, many intercellular spaces and
no chloroplasts.
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SNgmeoTeny 2 _aTememoLILIel Smemm 2.emm
Q&F6LE6T QUHMIBLILIS

A) Qevedlw Freu, 55
QTS5 EHE T 0L G @ emLQauer
LOMHMILD LI & 151856001 1 &0
&Ievor L1L1L6l6L6m6v.

B) SL9.LOGOTITEOT &reUl, Q& 6086585 60 G
QL Qeuefl SHmid WLHOD HS
6T6o0T600 1B 6m U6V LIS MBI 56001 5 MBI &5 61T
& T6o0T LI LI () 85) 60T M 60T.

C) QEVSW &realf, QFLEHEHSHT L G
QeLQeuefl Hmid WMHMID S S
6T600T600N 1S 6m B UL LIS TBIS 60011 85 M6 & 6T

& IT6voT LI LI (H) 85) 60T M 60T.

D) &19.L0 60T T60T Falr, 55
QFLSHEHE T emL Gl @emLQalerl
LOMHMILD LI& 51856001 181D
&Imevor L1660 6m6v.

42. What will be the number of Calvin cycles to
generate one molecule of hexose?

A)8

B)9

C)4

D)6

Q@ CLPVHFaM Cam&HEGETeN 2 (HeUTSH
GopemaullLI(pD  SHTeveledT  &LpmG serfleor
6T600T 6001 | &5 60) 857

A)8

B)9

C)4

D)6

43. Statement I : The primary CO, acceptor in C,
plants is phosphoenol pyruvate and is found
in the mesophyll cells

Statement II : Mesophyll cells of C, plants
lack RuBisCO enzyme

A) Both Statements are correct
B) Both Statements are not correct

C) Statement I is correct and Statement II is
incorrect

D) Statement I is incorrect and Statement II is
correct

M mIl:C, &HmeuT & er16v CO,-6l6dr (& 60TemLn
gl UmeCUTeTTeL emLIHCaIL. @66V
@MLS5H G Fa&6flev smeoorILBSR M.

gpm I C, STuFmseiley @ emev
QLSBT & &6rlev RuBisCO QBT
&IT6oor LI LI (HleuH) 60 6m 6V

A) @6t (D) Fo DS EBLD &Fifl

B) @76toT()) S MMISHEBHLD Heum)

Q) Samml | &ifl QLeTTeL Fn MM || Heum

D) oMM | HeUmI 246076V S MM Il &Fif]
44. Stomata of CAM plants

A) are always open

B) Open during the day and close at night

C) Open during the night and close during the
day

D) never open
CAM ST MHIG6T60 @)60)6V8 S1606T U T6TS!
A) eTLIGLIMSILD HMHEH ([(H&GLD

B) Usedlev Hmbah wmoin  @reiley
ePQUD @) (HEHGSLD

O @uellev HMBHHLD WLOHMID LS
PG ULD @BSHGLD

D) eTLIGLIMSILD S MHESH [(HESH TSI
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45. Photorespiration is favoured by
A) high temperature and low CO,
B) high humidity and temperature
C) High O, and low CO,

D) High CO, and low O,

efl&aUMELd HMLLIQLIM &FTEHSLOT6Ten6

A) 8155 QelliLplemnsy IDMHMID &GmbS
Co,

B) 9I®\& FILILIGLD (DMMID QelllLBlemey
0) 2155 O, HMILD GeOWbs CO,

D) 9188 CO, nHmilh Gemnmbs O,

| BIOLOGY (ZOOLOGY) Q.No.46to 60 |

46. The bones of a child are less brittle and
more flexible than that of an adult individual
because they have

A) more calcium phosphate and less
substances

organic

B) less calcium phosphate and
substances

organic

C) more calcium phosphate and
Substances

organic

D) less calcium phosphate and more
substances

organic

@@ 6UeTIHS LD6OIH60T60T  6TEVILDL|8606IT
STLIQVIID @@ GLPHMSUNET 6TevllnL| &6
GMMbHS 2 6eMLU|D  H6eOTemD  LDMHMILD
AFE  UMETWSHTaIQUl  S560Te0) 0L 60T
@ BLULGSMSHITEOT &ITIF600TLD

A) 9H& SHTOFIWD UMvsGLL MMID

SMMBHS S0 QUITIHL 6T
B) GemMbHEH  STLFIWID  LImesGCUL
MHMILD &Ifllo QUTIHL 86T

0) 9H& HTLFAWD LUMVSECLL MmN
&IfIl0 QUITIHL_ 6T

D) GemMbEH  STLFIWID  LmevsCuLl
LHMILD 956 &Iln QUITHLS&6T

13

47. Match items given in coloumn I with
appropriate items (One or more) in coloumn
II

Column | Column II
a) Humerus 1. Thigh
b) Hydrostatic skeleton 2. Upper arm

c) Femur 3. Flatworms
4. Acetabulum
5. Glenoid cavity
6. Hydra
A) a-2,5, b-3,6 c—1,4
B) a-2,1, b-4,5 c—3,5
C) a-3,4, b-2,5 c—1,6
D) a—1,6 b-1,4 c—5,2

alfleng I-emwl auflend |l 2 LaT (spedTl MG LD
GMUL L) QUTMHSS Fiflumer ellemLemuld
&T600T&.

aflens | aflens I
a) amlulLnren 1. Q& MevL
b) B FLL&WD 2. GLMHend

¢) &LI0g 3. L 6mL LI L|(DE56T
4. @(B\LILY e (N &6IT
(SIFL_LTLj6vLD)
5. 6008 6TIILDL] QUITIHHS!
GIIY
6. QL_JIT
A) a-2,5, b-3,6 c—1,4
B) a-2,1, b-4,5 c—3,5
C) a-3,4, b-2,5 c—1,6
D) a—1,6 b-1,4 c—5,2
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48. Select the correct statement about the
Vertebral Coloumn.

A) There are seven pairs of Vertebro sternal
bones, three pairs of Vertebro chondral and
two pairs of Vertebal ribs.

B) 8th, 9th and 10th pairs of ribs articulates
directly with the sternum

C) 11th and 12th pairs of ribs are connected to
the sternum with the help of hyaline.

D) Each rib is a flat thin bone and all the ribs
are connected dorsally to the Thoracic
vertebral and ventrally to the sternum

WSIOBIDLS QSTLT @gﬁ]ggp grflwimeor
Faenm CHIHESH(H &S| LD

A) (D ©)60)600T 2_600T60IL0 GNl6VIT TEVILDL| &6,
eLn 6T @) 6t euor GLIMed a6V 6TeVILDL|856IT
LOHOID  @reor® Gener 5SS
aNl6UIT 6TEVILDL|B56IT 2_GITETEOT.

B)89 wmmib 10 eugl @ emevor ellevm
GTEVILDL| & 6T LOMF G LISYILD L] L 60T
GBILYUIITS @) 60)600T[HSI6TETSI.

011 wmon  126ug @ emeoor  afleur
ETVILNL| S 6T MM 6T &HIHSESeILNL]
eL6VLD LOT TG LIgYILOL|L_60T
@) 60 600TS & LILIL_(H 6TeTSl.

D) Q6Ledll  SLemMLUIMET  eIQelT(H

efleurm  eraudLd, WSS  LDSHEV
WEIOSVIDLS QBT (GHLILD
aWIMHoIL Lim& S 6V LDMFGLSYILDL|L &9ILD
) 60)600T (5 S1 6TETS .

49. Assertion (A) : Biceps and triceps are called
antagonistic muscles.

Reason (R) : This is due to the fact that they
contact and relax together.

A) Both A and R are true and R is the correct
explanation of A

B) Both A and R are true but R is not the
correct explanation of A

C) A is true but R is false

D) Both A and R are false

FnMml (A) : MUQFLI6N LDMMILD 196D TEI&FLIEN
AHBW @ueor( SHOFHEHLD THFLOM
&HNFGH 6T

&mgeoortd (R) : @reoor(h HOFHEHD 6GT
FLOWSH &mmS, alifleusms, @ elaumm
SHSLILGRMS.

A) (A) npmild R) @uesorGid &ifl, (R), (A)
almasmeor SFiflulmeot ellemg & L0MELD.

B) (A) LommIh (R) @evorn &Fifl, 24,6076V
(R), (A) el & meor &ifllmest aflemdssLn6v6y

O (A) &ifl; (R) Heumy
D) (A) b MILD (R) @ Tevor(HILD &6umi

50. A Cricket player is fast chasing a ball in the
field. Which one of the following groups
of bones are directly contributing in this
movement?

A) Femur, malleus, tibia, Metatarsus

B) Pelvis, ulna, patella, tarsus

C) Sternum, femur, tibia, fibula

D) Tarsus, femur, Metatarsus, tibia
@ Af Q&L aflemerwimL () e,
MG TS H ) LIHend SITEH & 68 mevor(h
@OADTT. L Q&THESLILILLemeuserley
61HS eTDLIGET, @euifler emaFea|serflev
LRIGHMHIMSI?

A) S50, LOmedlwen,
QLOLLITLITJ&6N

1Q L,

B) GLIsueilen, 2 _6VeTT, LILQL6V6VIT, LITT& 61
Q) 6VGLFeoTiD, &LT0M, 199w, s&LLjeur

D) LTi&ev,  &Ling,

1q Lwirr

QLOLLITLITJ&6N,

51. Match List I with List II and choose, the
correct one four the options given below:

List I List II
a) Scapula 1. Cartilaginous joints
b) Cranium 2. Flat bone
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c¢) Sternum 3. Fibercon’s Joints

d) Vertebral coloumn 4. Triangular flat

bone
a b C d
A) 1 3 2 4
B) 2 3 4 1
C) 4 2 3 1

D)4 3 2 1

alfleng -1 emw auiflend-Il 2 LeT QUITHSS),
GpssemlaimmieTr  Frflwumer  ellemenuwl
CaIHOSH &&a)LD.

a) 6ruB&LJ6euIT 1. SHHSHOHVILNL]

9)60)600T LIL| & 6T
b) IDevoTeML. () 2. HL_60)L_UIIT6OT 6TEYILNL
o LTFeUaILDL 3. BrfleneorL| 86T
d) PSIQBYIDLS QSTLY
4. (P& G TEuoT 6U1q.6)
eTaVILDLY
a b C d
A) 1 3 2 4
B) 2 3 4 1
C) 4 2 3 1
D) 4 3 2 1

52.In the given statement, more then one
answers given may be correct. Select the
correct answers and mark it according to the
code. Bone is a living tissue — because

1. It contains living cells like osteoclasts,
osteocytes and osteoblasts

2. It also contains bone morrow from which cells
are produced

3. It shows growth and metabolism

4. It is freely movable.

A) 1, 2 and 3 are correct
B) 1 and 2 are correct
C) 2 and 4 are correct

D) 1 and 3 are correct

QM Fomm Q&HTHSHELUULM, ISHMEHTeoT

Frflwmer, 660TMI 5 G LD GumLIL L
aflemL & 6T Q&ETHSH&HLILIL (6Tl
Frflwimeor adlem L85 6m6IT FHevorL b &

Qamh&sLLULGerer  Gnluihseflev  Ol&
gflwumerens CoIHOSH&HSHID.  6TevnL]
@ 2_UNmeTeT & 8. 7Gl60T6TMIT6L,
1. BV 2 UNH6TET QF6LEETTEOT

61 GWImLI e merv (R 86T,

QL,6N 1 CUIMEn&FL_(H&6IT LDMMILD

QLI CWITGR 6T eV (H & 6T 2_6T6ITeE.

2. 31F6v eTVILDL LDBEOBUILD FH 60 BHS!
QF6LEET 2_(H6U T 60T M 60T

3. 918 QUETHES DMHMILD aleTTFens
LTOOSHDHGSETaTTHDS!.

4. 9181 560115 3MEF LD 560T60L0
Q) &5 T600T L_6M6L.

MU SHeiT:
A) 1,2 nmmiLd 3 &ifl
B) 1 LMD 2 LK\ &ifl
Q) 2 10mmith 4 0B\ &yl
D) 1 Lmmitd 3 Qb &ifl
53. Knock knee disease is due to
A) deficiency in tyrosine amino acid
B) hormonal imbalance
C) excess fluoride concentration in water body

D) Genetical abnormality in males

UEMETIHS &HTeL&EHET (Knock knee) e LI(h 61 & 60T
& ITIJ600T LD

A) L Crm&er etemild WGeoTm  jdlev
&6 MLITL_LY.60T 6V

B) @M GLOMedT &6mMLIT(H&HEITIT6V
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OBy mlemeusefled  HSLILILGUITET
SLeeBenT(H Q& mley
D) QL600T&HEH&EG  gmU@GI  WLrLwey

FHUWIN6VTeoT & MG ITT60T Hl6vIeV
54. When muscles get fatigued there is
A) more ATP, no glycogen and lactic acid

B) More ATP, more glycogen and More lactic
acid

C) Fewer ATP, and glycogen and More lactic
acid

D) Fewer ATP, more glycogen and Fewer
lactic acid

HF CFMIeU6MLUI &ITF600TLD

A) SIF\&L0meor ATP, HlemeT G Teg60T DM MILD
VIME19 8 LAleVLD @)6VEVIT Blemey

B) &S\ & L0meoT ATP, 3|5\ & D0meoT
R e6emCoHMeT WMHMID  FHEL0meoT
VM98 I|Ldlevld

C) GemmalTeoT ATP LoMHMILD  Semrem Casmeg60T
SLEOTITEV 3| H &L ITEOT 6VITEL).85 2 LOl6VLD

D) &6 M6 60T ATP, 2H & L0meoT
R enemCHTRET  MMID (G6emM6UT6oT
VM98 I|Ldlevld

55. Identify the non-matching pair of human
skeletal part with its Category.

Pair of skeletal parts Category
A) Sternum and ribs — axial skeleton
B) Clavicle and glenoid cavity — Pelvic Girdle

C) Humerus and ulna — Appendicular skeleton

D) Malleus and stapes — ear Ossicles

Lneofl & FLLS LD 600T L_6VLD LM MILD
9|5 60T Q&ML 6TVILDL| & 6T
Q&M &S LILIL(H6TeTeT. @ &6V QUMTIHHSTSH
©)6M600T6M LI {60 L_WLITEITLD &IT600T6Y LD
6TVILDL| & 6T 6U6ED) 5

A) LDTFEUILDL] LDMMILD
AI6EVIT TVILDL|GH6T — Q| F&HFFL_ L&D
B) &(WD&HSILILIL DL 6T&ILDL] LDMMILD
M&HETIDL] QUITGBHS! GLley
- @@L euemaTUlLD

C) MW, L06Nv LDMHDILD S{6VE0TIT
— @ 6MeooT W MILILE FL_L&LD

D) omeSlwienu nmmith envGLLiLflerv
— &M 6TILDL| 86T

56. Which of the following is not a function of
the skeletal system?

A) Production of erythrocytes
B) storage of minerals
C) Protection of body heat

D) Locomotion

LD 55 5 600TL_60) 61 856116V 6TSl
FLLS5H\e0r Lieoofl BemL_wimsi?

eTeVILDL |

A) etifl5CrmenFL_(h&H6T 2 MLISS)

B) &SI 2 LIL|56T CFIHS 606UESH 60

0) 2 L6V QauliLGens 2 MUSH QFUleugl
D) @LLD QUUWITSH6V

57. The following more than one of the answers
given may be correct. Select the correct
answers and mark it according to the code.

Number of facial bones of human are (total 14)
1. 2 nasals, 2 maxillae, 2 Zygomatci, | Vomer

2. 1 mandible, 2 Lacrimal, 2 Palatines, 2 inferior
nasals.

Copyright @ THE ALCHEMIST CONSULTANCY



3. 1 nasal, 2 maxillae, 2 Zygomatci, 2 Vomer

4. 2 Mandible, 2 Lacrimal, 2 Palatines, 1 inferior
nasal

A) 1, 2 and 3 are correct
B) 1 and 2 are correct
C) 2 and 4 are correct

D) 1 and 3 are correct

Q&BTHE S LILIL (H6ITEIT Ja M MI& &, 6260TMI & (& LD
GMUL L eNenL&6TQ&MH&HELILIL(H6TeTS.

& iflwimeor aJlemL_&56m6IT

& 600t LM H ), MG &MIUTG &erflev

QEMhH&SELILL(HeTareneusefley CaIHOSMH:

1.2 NG H 60T 16m LS55 GLsILDL], 2
GUASTOLQUINIINL], 2  &60T60TS %) 60T
GUEMETGLISVILDL

2.1 GPSSToL  aaldl], 2  &H600T6000[J;
FTLULWetoTemID  6TYILDL], 2 | 600T600T
eTeVILDL, 2 en&: G evfleml. BLd STEhaFT

3.1 eLN &5 6ot l6m L SLQL8svILDL], 2
GG QUWINIINL], 2  &H60T6oTS H 60T
QUEMETQUISVILDL], 2 @60 HITHF 6TEVILDL

4.2 BLDSSH T GTeVILDL], 2
560076001 [ & [T LILY LI 600T6m LD 6TeVILDL ],
2 Oevotevol  eTVIDL] 1 en&GHevflemi
BL&HTEHFT

A) 1,2 nmmild 3 &ifl
B) 1 Lnmmilh 2 Qb &l
Q) 2 inmmitd 4 InL_(HILh &ifl
D) 1 lnmmitd 3 L Qb &l
58. The vertebral formula of human is
A)C, Ty L S5 C,

(12)

B)C, T Ls Sy Cy

(10)
OCT, Ly S Cy

D)C, T, L, S C)

17

L0 60T & 6011 60T
G&GSH T

(PSISHVIDL] Qo mLifleor

A)C, Ty, L S, C,

(12)

B)C,, Ty Ls Sy, Cp

(10)
OCT,L,S5Cy
D)C, T,L;SC,

59. The following select the right statements
about Endoskeleton and select the correct
option from the code given

1. Occurs inside the body
2. Produced by ectoderm
3. Consists of living tissues
4. Has muscles attached to its inner surface
5. Does not restrict growth of the body
6. May be moulted periodically during growth
Code

A) 1,2, 3,4, are correct

B) 1, 3, 5 are correct

C) 2, 4, 6 are correct

D) 1, 4,5, 6 are correct
&G Q&EMH&HSELILILLemeuserfley
&FFLLID GM&HS FFWLTET SnmmisHemne6rT
seoorLMbE,  Fflumer Gmluillgeneor
CaIHOS(H &&a)LD.
1. 2_LedenI6T SmevorLiLi(h)LD
2. 9& LU LUNeS B @& met mlw
3. 2_WI(H6ETET H&EGH6TIT6V 3L, 60TS

.@&ET 2 L LMINTS SHOF&H6T 6L Iq

& meoor L1LI(h LD
5. 2_Le0leT auemi&ERemW &H1&HE&MS!

.eueTiFFRWledr  GUME  &60TeM60TSH S ITG60T
Coxmanflsg Lgiliigas G&smeT@hin
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GIITNCY
A) 1,2,3 DHmILD 4 FiflwimeTen el
B) 1,3 LDMMILD 5 FflwimeTemel
Q) 2,4 LoMMILD 6 &iflulmeoTem 6l
D) 1,4,5 LDMMILD 6 FflwmeTemeu

60. A Disorder of muscular and Skeletal system,
the clerks, Software professionals, pregnant
women and people who constantly play or
text in mobile phones is

A) Muscle Fatigue and Arthritis
B) Rheumatoid arthritis and Gout
C) Carpal Tunnel syndrome

D) Duchene muscular Dystrophy

WSS T(HeTTIE), @ LD 60T G LI T 61T
slemmuiey UeflyflGeury,  s&FLILeoofl8s 6T
LOMMILD emeuCLIFIUI6V QEMTLIHS
alemerwmMGGUTT  SVevd  QSTLIHI
QEFWEH LGy  WHCWTHEGS
JMHLL QUTUILIL| 2_6T6IT, H6M&F LOMMILD 6TEYILNL |
LO600T L6V &6 mUITL(H CBITUI

A) eng Gamye] LnMMID el (Hleued
B) (HLOLITUIL. &L TSH6MITLY6MN LOMMILD G&H6TL.
C) Ln6ooT &L (h) 6TewLDL] & MeVeU Ul GBI

D) LEFF 6T e0FF Fleng e
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